2010-11-10
00000000000 0100

(090 -0 110000000)

L O L kubo®@ees.hokudai.ac. jp

http://goo.gl/MNbr

1/ 62


kubo@ees.hokudai.ac.jp
http://goo.gl/MNbr

: + WinBUGS

1. : GLMM
ooooooooood

Joboooddddbon

2010-11-10 (2010-11-11 15:53 O0O00) 2/ 62



: GLMM

2/ 67



o DU DOUOUOOUOLOUODO 00000 N; =8

- 000000000000 0000
80 000000 . 0eo0

- 00O000000000C L Uy =3
000 (00)00000
(00) 000

- 0000:000000C0

000000 ‘

e IO: 0O 10000000 WO0OIOOOOOON
e [ UI0OIOOOOOOOOOOOOOOOOOOO?

2010-11-10 (2010-11-11 15:53 O0O00) 4/ 62



15 2|O 25
o
O
]
]
]
e
[

1 oooood o
EREREEERE
o . 0O oon
Jubbube - ooopoooo!
. ® ®
o} o ® @
O_CI) | | | CI>
0 2 4 6 8

oot y;

2010-11-10 (2010-11-11 15:53 000) 5/ 62



— (overdispersion)

DDDDDDDD 00000000000
JZJZJLZ Qo -

pobbbbd yy

e IO DOODUOODOOMODOODOOOODOOO......
e OIOUODOOUOOUOOUODO:DOOOO

e UUUODOOOOONO overdispersion [0 O O [

e OO OOUODO:?

2010-11-10 (2010-11-11 15:53 0O0) 6/ 62



®

[]
[]
[]
[]
[]

Jooboooddd

HRERERERERERE
HRERERERERERE

bbbl

. fixed effects [J [ ] [
. random effects [J [ [J []

N =

HRERERERERERERERERE
Jooboooddd
HREREREE-

o DD OUUOUOUODODDODODUOOUOODOODOO OO

oo nnnni

7/ 62



Jododo fixed O random O O

e 0000000000000 OOOOOO fixed/random
effects OO0 OUOOUonog:

1. fixedeffects OO 0O: 00 0O0O0OOD0O0O0OO0OO0OOO0OOO0OOCMN
Joo0o0fdodoooobOD(oooooooooooan)

- 000000 fixedeffects 00000000

2. random effects DO O 0: fixedeffects 00O OO0 (DODOOOOO
DO0000000D00DOO00000oooon)

- gttt boogdtg

- o ,,Z 0000000 random effects 1 0

oo

J‘Z‘Z Juobootdbobbotddboood
g e

8/ 62



[0000000000: 0000000000 |

o | UUUOOOOODO DD uodddd

e U0 N;UOUODO y;, ODODODOOOOOOOODOO
N; . o
P(yi|Qi)=< .>q;7;""(1—qq:)N"’ vi,
o (110 0LHODOMOMOO O]

- oot
— oo ood gq

2010-11-10 (2010-11-11 15:53 0O0) 9/ 62



[0ooooooooooooooogo |

e 100000000 ¢ =q(z) 00000000
(logistic) 00 ¢g(z) =1/{1 +exp(—2)} 000

e UUUOLO 2z; =a+b; 0001

- oot e U OOO
- 000000 b;: 00 0000 (o)

2010-11-10 (2010-11-11 15:53 0OO) 10/ 62



e 1000 IDOIDO0OO0OUOOOUOODOOUOOOO 101
D((LD {bl,b2,°°°,b100})DDDDDD ......

e 10000DOO00O /JOOOOOOOOODODDOOOO!
(0000000 oOooooO)

e OO ODOUOOUOUOODOODOOOOOOOn?

oo bttt nni
?

000000D000000000000000
00 (000000)

2010-11-10 (2010-11-11 15:53 0OO) 11/ 62



Joboooddtd s

1 —b?

000 {b1,be, -+, b0} 0000000000 DOONO

2010-11-10 (2010-11-11 15:53 0OO) 12/ 62



Joboootdd st oo ot

00 b, OOOOOOOOO O
HRNRERERERNEN

b, OO0 od y; O0O0OO

e s DDOMNO
U — Ui
e s LU IOMNOML
Joboooodd

1 [
L1 [

2010-11-10 (2010-11-11 15:53 0OO) 13/ 62



(A)00O000000(B)00DODODOO (C)DO000O0DOO0

(A) D0000dO0opoD.:000b0o0bO0000ooboooOp; 000b0OO00d
Jodduobooobnd

(B) D0O00ODODO: 0, 00000000000 00D0D0DOO0O00OODOO0
N000000000D (000 -5005000000000000C
000)0

() J0d00d0d0ddd:p; 000000000000 sOODODODODOOOO

J0000 s0000000000000000
14/ 62



0 104 000000000 y=20000 b

b, 00000
p(b; | yi =

S

0 b; DO OO OOOon

000000 p(b; | 8)

p(yi = 2| by)

HRERERE
HRERERE

15/ 62



0 105: 000000000 y; € {2,3,5} 0000 by

Joodd s O

oot

A
-2 0 2

A T
-4 -2 0 2 4

S

HRERERE

HRERERE

16/ 62



F—%
FRERS N [i]hoy (1] g tauld
hyper parameter
—Iﬁﬁﬂﬁ #ECF%MEHZIS%
e ali] < blil<,
E.aﬁuﬁﬂﬁ
ERDILT 5 oo B ZED
N A5 PPN
BIFs®REI2M _
- . SIS SRR
(FBERID)

Jobol - 0o obdd

2010-11-10 (2010-11-11 15:53 0OO) 17/ 62



F—4
BB N [1]hDY [1] H=E tau (&
hyper parameter

‘ _Eﬁﬁ M OEhE
"%:;%EEX C_[ 4_ b [ ]
ERDELY ﬂﬁHZIS%O)
L T + 7 YiEsox
GRS S KT B AN
(FBER uﬁj\ﬁ)

Joboooodddbddbobo ot

18/ 62



Jodoodoouoodouooodoouooooa?

o0 6 00000000 oouoouoon

o DO UOUOOUOULOONO
Jd s=01000000000000 0

e I0ODODODODODO? JMA smal
0000000000 s = 0.10 MMMJLWG
e JOOUooooooooo P e
0000000000 sOO00OOOOoDOOooOg XU ------------ Afm

(COooOooon)

Jobooddobotdtd sobddoondn
HRNRNRNRNRNRNRNRN

19/ 62



e s UUUUOOODDODOUOOOODDOO

e 100 000000 OODOOOOO (non-informative
prior) O O [

o DD OUOUOOODODDODOO O

e~ P

I'a)B— ’

—1

p(t) =T1° o=p3=10""

2010-11-10 (2010-11-11 15:53 0OO) 20/ 62



(1) T

o_
0

Q_

O

Q_

<_

o

0000000

S 0000d

ol e (00 1; 0000 |100)
o

| | I I I |
0 2 4 6 8 10 T

- dddoboboodddgobonooodd

21/ 62



(2) a

< _
o

_

o

A

N

—_ E OO0odomd

< 0000

ol (B.0 0, 0000 |100)
o

000000 (logit) 00 e OOO0OOOOOOODOOOO

22/ 62



[0ooooooodoogon |

100

[ p(wi | a(a + b:)) p(a) p(b; | 7) h(7)
p(a,{b;}, T |000) = =

}/---f(mm 4+ D0O000) db; dr da

Juobooddbobootdd

100
p(a,{b;},7|000) o< || p(y; | a(a + b;)) p(a) p(b; | T) h(7)

=1

0000: p(a,{b;},7|000)
100

00: ]| p(ys | q(a + b;))
=1

000000:  p(a) p(b; | ) h(7)

2010-11-10 (2010-11-11 15:53 0O0) 23/ 62



o0 s 0000000 sUOOOOOOOO0OOMO

individual TAN2 N\ 3

|
|
\
small ‘| hyperprior
. f I
| |
\
@) \\
. rior
S o)
l 1 posterior)
\
large \

v QO hyperparameter

oot botddboogdd
0000 sdodoooooooodd « MCMC

2010-11-10

(2010-11-11 15:53 00O 0)

24/ 62



sjafufs .
p(a,{b;},7|000) o || p(yi | a(a + b;)) p(a) p(b; | 7) h(7)

1=1

e J000DDDODODDOODODOOO OO0
Op(a,{b;},7|000)0000000000O0

o DD UUOUOODDODOOML

e Markov chain Monte Carlo (MCMC) D OO OOOOODOO
J0ooooooooooooooon!

—odododwnBUGSOOOOO......

2010-11-10 (2010-11-11 15:53 0OO) 25/ 62



Gibbs sampling

Jobbotgtdbobbotdtdbboogtdbbootgdubootgd

100

p(a| ---) o ][] pw:lala+ b)) p(a)
=1

100

p(r] ) Hp(b,,;|7-) h(T)
=1
p(br| --+) o< p(y1]|g(a—+b1)) p(br|T)
p(b2 | --+) o< p(y2|g(a—+b2)) p(bz | 7)
p(bioo | --+) o< p(y100 | g(a + bioo)) p(bioo | T)

26/ 62



LO__
(q\|
o | O @)
N e
o [ )
ooooQ — ¢
oooooo o0 9-.e _°
O —_ _-0
O—@— 9 o
Lo_
° o
o_
| | | | |
0 2 4 6 8
sinisisininln

2010-11-10 (2010-11-11 15:53 00O0) 27/ 62



15 20 25
/. )

o
\‘.

ERERNRERE

— @)
\. /
O\O O/O
e o
o

Jooood

| | | | |
0 2 4 6 8

HRNENRNRN

Jbbooodddoboooddddnbd
Jobooooddgoboooddddnbon i

2010-11-10 (2010-11-11 15:53 0OO) 28/ 62



[0oooogooog. |

e J0DDOOOO
(0000)x (00) x (00O0OD0) x (ODOODOO)

TF—4%
FRERB N [1]dhy [1] #E=E tau (&
hyper parameter
. ZIESTE HEA O (B 2=
fEEpELqli] < b[i]<m,
ERDIL [&] )
RigskEmiom ;4 N
(FBERID )

e 10O IODODDOODNOO: Markov Chain Monte Carlo (MCMC) [

2010-11-10 (2010-11-11 15:53 0O0) 29/ 62



WinBUGS

2010-11-10 (2010-11-11 15:53 0O 0) 30/ 62



JO000odooooodo WinBUGS OO OOOO O

1. 000o0o0o0oogoooooooon

2. 000 BUGSOOOOO (model.bug.txt)

3. R2WBwrapper D0 OO OO ROO OO OO (runbugs.R)
4. RO0O runbugs.R OO0 (source(runbugs.R) OO)
5

oot beegs OO OOOOOOO O

2010-11-10 (2010-11-11 15:53 0OO) 31/ 62



Jodotdodotooooooououoooon?

F—%
RS N [1]FhDY [1] #5E tau |d
hyper parameter
k4
—Y i #E%O){IEHZIS/%
R ali]l <— blil<—
E.aﬁuﬁﬂﬁ
SERDEH 4 oy TEEZED
o A TiEsox
M|IEREANDHE e
. SRR BRI
(FEERID )
100
p(a,{b;},7|000) o |[ p(OO0 | g(a+b;)) p(a) p(b; | T) h(7)
1=1

2010-11-10

(2010-11-11 15:53 00O0)

32/ 62



e JOOO (hierarchical) DO OO OOO
— random effects U U 0 00O 00O O[O

e 00O (non-informative) 0 0 0O 0O 0O O O
- Jooooouooododo fixed effects U O 0 [
HREpERE
e 0000 (subjective) 0000000
- oododbdb i
- (D00000O0oOobooOo)oooooooon

33/ 62



BUGS

0000 model.bug.txt 000 (D0ODODO)

modelq{
for (i in 1:N.sample) A
Y[i] ~ dbin(ql[il, N[i]) # 0O0OUO0OO0OO0O
logit(ql[i]l) <- a + b[i] # 0OO0O0O qlil

¥
a ~ dnorm(0, 1.0E-4) # QOO 4dnu
for (i in 1:N.sample) A
bl[i] ~ dnorm(O, tau) # 00O
¥
tau ~ dgamma(1.0E-4, 1.0E-4) # O 0OO0OOOO
sigma <- sqrt(l / tau) # tau 0O SD OO0
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R2WBwrapper [ R runbugs.R (@oo)

source ("R2WBwrapper.R")  # R2WBwrapper [ U [ [
d <- read.csv("data.csv") # UUOUOOOOOOO

clear.data.param() # OO OOOO (OOO)
set.data("N.sample", nrow(d)) # U0 0
set.data("N", d$N) # 00000
set.data("Y", d4d3$Y) # U0

2010-11-10 (2010-11-11 15:53 000) 36/ 62



R2WBwrapper [ R runbugs.R (@oo)

set.param("a", 0) # 00O
set.param("sigma", NA) # DU U UOUOOOO
set.param("b", rep(0, N.sample)) # L0
set.param("tau", 1, save = FALSE) # U OO Q
set.param("p", NA) # OO0 d

post.bugs <- call.bugs( # WinBUGS U0 0O
file = "model.bug.txt",
n.iter = 2000, n.burnin = 1000, n.thin = 5

)
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WinBUGS

post.bugs <- call.bugs( # WinBUGS 00 0O
file = "model.bug.txt",
n.iter = 2000, n.burnin = 1000, n.thin = 5

)
000 defaut 0O OO0 (DODO) 3 O (n.chains = 3) MCMC sampling

0000000000 (DoDOOoDoOooboooon)
- ¢f. 0000000000 PCO MCMCOOO

0000 chain OO OO 2000 step (n.iter = 2000)
000 1000 step O 00O (n.burnin = 1000)
1001 OO 2000 step OO S5step 000000000 (n.thin = 5)
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bugs post.bugs (1)

e plot(post.bugs)
e R-hat [ Gelman-Rubin 0 OO O OOOO O

&t
OR:¢w<ww
W
R n—1 1
o vart (Yy) = —W + B

o W : chain ] [ variance

o B : chain U O variance
O Gelman et al. 2004. Bayesian Data Analysis. Chapman & Hall/CRC
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JboThinkPad/public_html/stat/2009/ism/winbugs/model.bug.txt", fit using WinBUGS, 3 chains, each with 1300

80% interval for each chain R-hat medians and 80% intervals
-100-5 0 5 10 1 15 2+
a, = °
sigma = ° 0.54
*b —_ :
— : a 0 1
— : 0.5
___ E 3.51
- . sigma 3 4
=| : 251
T — H 10
- : 51 4 o4 } R R
—_— . e % o P, %t e
— H *b 01, L PR T TYSS R e
—_— e N O A L I M
-—_ E -10- 1234567891012 14 16 18 20 22 24 26 28 30 32 34 36 38 40
13 . °
*q . E 0.2-
L . 0.15
- ° tau *
: . 0.11
: 5 0.05!
: : T g +'|'1.'|' H?
. ey o
% . 0d¢ “ ‘* ¢ “ é & *
- : 1234567891012 14 16 18 20 22 24 26 28 30 32 34 36 38 40
E 26
: . ) 24
° deviance +
r H 22
40 5 0 5 10 1 1.5 2+ 20

*

array truncated for lack of space
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bugs

post.bugs

e print (post.bugs, digits.summary = 3)
e J1OODODO %% O0OO0000O0O0O0ODODO

sigma
b[1]
b[2]
b [3]
b[4]
b [5]
b [6]
b [7]
b [8]
b [9]
b[10]

mean

.018
.980
.800
.142
.992

3.745

.005
. 047
. 765
. 782
.049
-2.

028

r PP, PP, PP, OB, OO0

sd

.322
.361
711
.874
.047
.781
.066
077
.763
.661
.106
.066

2.5%
.621
. 346
.652
.003
.169
.975
. 257

0.147
1.023
1.133

.439
. 340

25% 50%
-0.202 0.025
2.738 2.948
-4.776 -3.503
-1.688 -1.111
1.251 1.889
2.503 3.408
-2.719 -1.909
1.310 1.933
2.482 3.593
2.591 3.570
-2.745 -1.948
-2.655 -1.902

75%

.233
.205
.5b4
.530
.665
.751
. 257
.716
.811
.703
.255
.314

97.5%
0.628
3.752
-1.193
0.464
4.346
7.926
-0.131
4.456
7.515
7.621
-0.218
-0.175

e i el T T T T = = S =

Rhat n.eff
.030 75
.003 590
.002 1100
.010 200
.005 390
.008 520
.005 370
.002 1100C
.000 1200C
.003 640
.004 470
.002 750
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mcmc.list

e post.list <- to.list(post.bugs)
e plot(post.list[,1:4,], smooth = F)
— ggood, goon
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mcmc

e post.mcmc <- to.mcmc(post.bugs)
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BUGS

model { # BUGS U UUOUO0OOOOUOOOOOOOON

for (i in 1:N.site) {
Y[i] ~ dpois(mean[i]) # 000000 OoooOd

log(mean[i]) <- beta + reli] # (UOUOO) + (UWOO)

+
# 00O rel[i]l O CAR model [0 [

re[1:N.site] ~ car.normal(Adj[], Weights[], Num[], tau)
beta ~ dnorm(0, 1.0E-2) # U000 0O0Loonggd
tau © dgamma(1.0E-2, 1.0E-2) # UUUO0OOUOOOOOOOOOOO

OnOROROS
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